Table of Integrals: _______


Math 2432

Fall 2007 – Test III
NAME_______________________________________________________

Part I – The Table of Integrals and a calculator may be used on this portion of the test.
If you use the Table of Integrals, then please identify the reference number.

Show all work.
Answers with no supporting work or explanation may receive only partial credit.
Exact answers are expected, unless otherwise indicated.
1.

a. Set up the integral to find the length of the curve 
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b. Estimate the length (to 2 decimal places) using S20.
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2. 
a. Find the volume of the solid formed by rotating the area bounded by 
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b. Provide a complete sketch.
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3. 
a. Find the average value of 
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b. Sketch favg on the graph below.

c. Find all value(s) c such that 
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. Estimate c to 1 decimal place.
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4. Find the centroid, 
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5. Find the length of the curve 
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6. Verify that 
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 is a probability density function.
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7. 

a. Find the volume of the solid formed by rotating the area bounded by 
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b. Provide a complete sketch.
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8. Given the probability density function 
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, find the following probabilities:
a. The probability that x is between 1 and 
[image: image24.wmf]3

.

b. The probability that x is greater than 
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c. The probability that x is between (1 and 0.

NAME_______________________________________________________

9. A given spring has a natural length of 6 inches. A force of 5 pounds stretches the spring 1 inch. What is the work done in stretching the spring from 8 inches to 12 inches?
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Part II – The Table of Integrals and a calculator may NOT be used on this portion of the test. Show all work.
Answers with no supporting work or explanation may receive only partial credit.
10. Find the area under the curve 
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